www. st udent s. na

2012/2013 =4l jal) L) 1 pd) Qugna o2 Bal a4 gl

| I 1= DU X S |

A3l By gal) o ga i ALl

esludaly ) 54l B

Jung’écl:\ﬂ\a,m;'jl_‘i.d.a\ 1§ 1655l
Ll
- 1 Op 8 o8
(AB; AC) = Z[2m]: Gy g3 (5 gluia ilia ABC _siad

E&JUJA oJ‘SJaL;M\o\JJﬁ\ROS:‘-‘J

R(I)=]:0'0x( o2
SAIM hBall 38 G N 3 M bl (Al ABC &liad) g s (2 2
g (i gbuia A JN
MJ=NI : ¢! 0= R Ol Jeaxiaily
(IC) s (JN) ghliiakii F 5 (1)) 3 (BM) ghlisakii E o< (3
R ¢lLsdk (1) 9 (BM) Oasibanal) (30 S5 ) gaa 3 | )
3L (g sbuia ARF i) o) il - 2
] | TR 8
A(x) = cos2x + cosx — sinx : p&ai R (o x S
Vx € R; A(x) = (cosx — sinx)(1 + cosx + sinx): o' o=-1(A||  o1.5
cosx — sinx = 0 Qs R 2 Ja-g ol.5
2
VxE]R{;l—I—cosx-l—sinx:1+\/§cos(x—§):a\a-ﬁw | 0l.5
! S 51.5
1+cosx+sinx>0u,ﬁ]—g;n[ Jlaadl (e x JSI Al peiitin) al
Ax) = 0: A |- 27| Jadl g B 2
J | | QTS o4
& Z\,,Jm\ QLA.E.U\]R{ gé (JA
cos(x —y) = sinx(2y — g) &2
 (x a
sin (E) +cos(Qy—m) =0
o2

{tan(x —y) =sinx(x — y)

sin(x) — cos(2y) = 0 2

b gl Ay Adl g

wwv. st udent s. ma




